Brookshire Pool Opens Sat. May 27th REVISED

Memorial Day Weekend hours

OPEN SWIM ONLY 10AM-12PM & 3-9PM SAT., SUN., & MON

For more info contact Park Office 361-221-8705 or pool at 361-592-7061

Sunday	Mon-	Tuesday	Wednesday	Thursday	Friday	Saturday
1-5 Open Swim 6:30-10:00 Private Party	Closed Guard Inservice Swim Team Practice	7-8:30 Swim Team 9-10 Adult Swim 10:15-11:00 Swim Lessons 11:30-12:15 swim lessons 12:15-1:00 closed 1-4 Open swim 4:30-5:15 swim lessons 5:30-6:15 swim Lessons 6:30-7:15 High Intensity Interval Training in Pool 7:30-10	7-8:30 Swim Team 9-10 Adult Swim 10:15-11:00 Swim Lessons 11:30-12:15 swim lessons 12:15-1:00 closed 1-4 Open swim 4:30-5:15 swim lessons 5:30-6:15 swim Lessons 6:30-7:15 Aqua Zumba 7:30-10 Open Swim	7-8:30 Swim Team 9-10 Adult Swim 10:15-11:00 Swim Lessons 11:30-12:15 swim lessons 12:15-1:00 closed 1-4 Open swim 4:30-5:15 swim lessons 5:30-6:15 swim Lessons 6:30-7:15 High Intensity Interval Training in Pool 7:30-10 Open Swim	7-8:30 Swim Team 9-10 Adult Swim 10:15-11:00 Swim Lessons 11:30-12:15 swim lessons 12:15-1:00 closed 1-4 Open swim 4:30-5:15 swim lessons 5:30-6:15 swim Lessons 6:30-7:15 Aqua Zumba 7:30-10 Open Swim	1:00pm – 5pm Open Swim 6:00 – 10pm Private Party
		Teen Night				

PASSES

Season Pass May 27- Labor Day Weekend

Individual Open Swim only \$100.00

Family " " \$200.00

All Incl. Pass open, lap, classes

Individual \$130.00

Family \$250.00

FEES

OPEN SWIM \$4.00

Senior/Adult Swim/Aerobics \$5.00

Family Rate 5+ or group 25+ \$3.00

Private Parties

The Brookshire Pool is a great place to relax, have fun and celebrate any occasion.

Brookshire Pool can be rented out for special occasions for only a small fee.

To reserve the pool there is a deposit of \$100.00 that must be paid at the Dick Kingsville Park office in order to reserve your date and time. The pool rents for \$50.00 per hour with a 4 hour max. This will be determined by a headcount of how many people are anticipated attend the party. And \$20.00 per hour for each guard required. Reservations are to be made at the Kingsville Parks Office. The rental time includes clean-up time. Any changes or cancellations must be made at least two weeks in advance to qualify for deposit refund. You will be provided pool rules and you must make sure that your party attendees follow all rules as well.

Deposit	Length of Party	# of at-	Lifeguards required	Total Due
\$100.00	2 hours @ \$50.00 = \$100.00	UP TO 25	2 X \$20.00/hr x 2 hrs=\$80.00	\$280.00
\$100.00	4 hours @ \$50.00 = 200.00	UP TO 25	2 X \$20.00/hr x 4 hrs=\$160.00	\$460.00
\$100.00	2 hours@ \$50.00 = \$100.00	26-50	3X \$20.00/hr x 2 hrs=\$120.00	\$320.00
\$100.00	4 hours@ \$50.00 = \$200.00	26-50	3 X \$20.00/hr x 4 hrs=\$240.00	\$540.00
\$100.00	2 hours @ \$50.00 = \$100.00	50-100	5 X \$20.00/hr x 2 hrs=\$200.00	\$400.00
\$100.00	4 hours @ \$50.00 = \$200.00	50-100	5 x \$20.00/hr x 4hrs = \$400.00	\$700.00

REVISED RED CROSS LEARN TO SWIM CLASSES

Swim Lessons are the best way to get children ready for the water.

Sessions are Tuesday through Friday for two weeks. This is a total of eight classes that run for forty-five (45) minutes each day. <u>Cost is \$55.00 per child</u>. Family rate & Multi Class Rate available.

Session One: June 6th - June 16th

10:15 - 11:00, 11:30-12:15

4:30-5:15, 5:30-6:15

Session Two: June 20th—June 30th

10:15 - 11:00, 11:30-12:15

4:30-5:15, 5:30-6:15

Session Three: July 5th- July 14th

10:15 - 11:00, 11:30-12:15

4:30-5:15, 5:30-6:15

Session Four: July 18th—July 28th

10:15 - 11:00, 11:30-12:15

4:30-5:15, 5:30-6:15

*Classes schedules subject to change

Must pretest at pool prior to registration during open swim starting 5-27
Register for lessons starting May 30th at Park Office

Register for lessons starting May 22nd at Park Office
All of the staff are Red Cross Certified and are excited to teach.
For info contact Park Office at 361-221-8705 or Pool at 361-592-7061

RED CROSS LEARN TO SWIM CLASSES

Swim Lessons are the best way to get children ready for the water.

Sessions are Tuesday through Friday for two weeks. This is a total of eight classes that run for forty -five (45) minutes each day. <u>Cost is \$55.00 per child</u>. Family rate & Multi Class Rate available.

Session 1:	Session 2	Session 3:	Session 4:
June 6-June 16	June 20- June 30	July 5th-July 14	July 18- July 28
10:15 - 11:00	10:15 - 11:00	10:15 - 11:00	10:15 - 11:00
Mom & Me	Mom & Me	Mom & Me	Level 1
Pre K	Adult Teen	Pre K	Level 2
Level 1	Level 2	Level 3	Level 3
Level 2	Level 3	Adult/Teen	Level 4
11:30-12:15	11:30-12:15	11:30-12:15	11:30-12:15
Mom & Me	Pre K	Level 1	Level 1
Pre K	Level 1	Level 2	Level 2
Level 1	Level 2	Level 3	Level 3
Level 2	Level 3	Level 4	Level 4
4:30-5:15	4:30-5:15	4:30-5:15	4:30-5:15
Mom & Me	Pre K	Pre K	Level 1
Pre K	Level 1	Level 1	Level 2
Level 1	Level 2	Level 2	Level 3
Level 2	Level 3	Level 3	Level 4
5:30-6:15	5:30-6:15	5:30-6:15	5:30-6:15
Adult/Teen	Mom & Me	Pre K	Mom & Me
Pre K	Pre K	Level 1	Pre K
Level 1	Level 1	Level 2	Level 1
Level 2	Level 2	Level 3	Level 2



SUMMER 2023

JOIN THE FUN!

Youth ages 5 - 18 are invited to join the Kingsville Swim Team. New swimmers must be able to swim one length of the Brookshire Pool to be eligible.

OUR SEASON

Practice is held in the evenings from 5:30pm-7:00pm until area schools break for summer. Summer practice will then be 6:00pm-7:30pm Mondays and 7:00am-8:30am Tuesday-Friday.

MEETS

Dual meets will be held on some Saturdays in June-July, with a regional meet later in July. New swimmers are encouraged to participate in the regional meet, but it is not required.

REGISTRATION FEE

The registration fee is \$100 for the first child in the family, and \$80 for brothers and sisters. This fee includes a t-shirt, team swim cap, coaching, lifeguarding, league and region fees.

Optional team competition suits will be an additional cost.

FURTHER INFORMATION

For More info on Joining Swim Team

Message us Via Facebook: @KingsvilleSwimTeam